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0	 CHEMISTRY
CHE-5 : ORGANIC CHEMISTRY

Time : 2 hours	 Maximum Marks : 50

Note : Attempt all the four questions.

1. (a) Give IUPAC names of any two of the	 2

following compounds.

(i) CH3 CH2 COCH2 CO CH3

C2HSO CH2 CH(CH3)2

H2N 0 )— C2H5

(b) Assign R or S configuration to any one :	 1

(i) H2N 

CH3

Br

OH 

CHO

H	 OH

CH2OH
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(c) Assign E or Z configuration to any one :

(i)
H,C	 OC H\	 2 5

=
H3CS/

FLC	 NH\	 2
(u)	 C= C

Br/ 0

(d) Write the structure of 1, 2, 2-trichloro- 	 1
propane.

2.	 Attempt any five parts :

Why is Phenol acidic while ethanol is not ? 	 2

Why is aniline less basic than methyl
	

2
amine ?

Among 1, 3-pentadiene and 1, 4-pentadiene,	 2
which has higher X max and why ?

Why is 2-position of furan preferred for 	 2
electrophilic substitution ?

(e) What are the	 differences between	 2
nucleosides and nucleotides ?

Explain ninhydrin test with suitable 	 2
example.

What is carbylamine test ? Give the reaction 	 2
involved.
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3.	 Attempt any five parts :

(a)	 Complete the reaction and name the main	 3
product :

c\1	 (i) C6H5CO NH2 NTH >

O

/O\	 (i) Diethylether 
(ii) Ph Mg Br + CH2 — CH2	 (ii) H± /H20 >

OH

Zn dust 
A

(b) What is hydroboration-oxidation ? Give the	 3
products of the following compounds on
hydroboration-oxidation :

1-Butene

2-Butene

(c) Give the definition and use of saponification 	 3
value.

(d) Use	 relevant rules to explain the	 3
hydrohalogenation of propene.
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(e) Complete the following reactions : 	 3

C6H5 CHO + CH2(COOH)2  Pyridine 

1, 3-Butadiene + ethene ---A-->

H2O 
(iii)	 C2H5 COOK Electrolysis

(f) Give one example each of :	 3

Hall-Volhard Zelinsky reaction

Mannich reaction

(iii)	 Reformatsky reaction

(g) Write an example each of :	 3

Wolff Kishner reduction

Clemmensen reduction

Sandmeyer reaction

4.	 Attempt any five parts :

Illustrate Curtius reaction with a suitable	 4
example.

Write Fisher projection of all stereoisomers 	 4
of 2, 3-dichlorobutane and identify these as

enantiomers/ diastereomers.
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(c) (i)	 How many isoprene units are present 	 1
in a sesquiterpene and a triterpene ?

Write the chemical constituent of table	 1

sugar.

Give one example of an alkaloid and	 2

a steroid.

(d) What is Friedel-Crafts reaction ? Give the	 4
limitations of Friedel-Crafts alkylation ?

(e) (i)	 Define the base peak in Mass	 1

Spectroscopy.

Give characteristic absorption bands	 1

of C =--- C and C = 0 in IR spectra.

Draw NMR spectra of diethyl-ether	 2
and explain splitting pattern.

(f) Write short notes on any two :	 4

Hofmann rearrangement

Tautomerism

(iii)	 Beckmann rearrangement

(g) (i)	 Differentiate between fats and oils on	 2
the basis of physical and structural
aspects.

(ii)	 Give the preparation of phenol from 	 2
cumene. Write the advantages of this
method.
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1.	 (a) 	 *Writ Ah.07T). *311.7-01.-c.t. 	 2

Trf qr,TR :

(i) CH3 CH2 COCH2 COCH3

C2HSO CH2 CH(CH3)2

(il) H2N -( 0	 C2H5

(b) -14-1 (.1 (go	 Wi#	 tritw f R amts

vcr4 rci .-41k1	 :

CH3

(i) H
2N	 OH

Br

CHO

H	 OH

CH2OH
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(c) 	  tf 	 	 triTW E 332T4TZ	 1

fawTru fitTif-Tu	 F :

H3C \ OC2H5
C =

H3CS/

(d)

2.	 7%77

(c)

	

1-12C	 NH\	 2
(ii)	

/C = C
	Br 	 GP

1

2

2

2

1, 2, 2-1* .cto

rft

th-t4M 311*4

14f2T-d-kTr17*r

4	 Thft17I

t 3711	 PI,`

t 74FW -R4r9-T	 t?

U;101-1	 r urtzr	 t?

1, 3-A-disti-i att 1, 4-	 14 174) .)1

aftTw xmax t	 creil?

7#9.14. 3TrifTzTrafft fa7 2

2-f -1i 7{1-4-d-r 4,q	 t?

f r3

t?

3	 VTIZTYer0* Q r.! q;EIT atd7 2

31:FIWf TR-IvErr	 0441(-it 2

WI-F-4R I

ITNFT	 IT t? 441k.d. ati(wrr 4 2

q At; I

(i)
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3.	 f"""erit."R' ilTrff * 31( q ,31 :

(a) afifTzgati .0 tgr --1-1---R * 31-q-u 3041C W	 3

TI:1 q11nTI	  :

C6H5CO NH2 
NaOH 

0

Ph Mg Br + CH2 / — \CH	 I2M.g4-{ 
2	 Hi-/H20

OH

Zn tO 
A

(b)	 lilcNi-i-1-3-ItItTITIWt"? -1 4--i 0 igo 4171-4
	

3

t rci	 141 ,,:i1j-t-I--aff-oTrItTur	 -97:1 371K

c -R :

1-L-ti

2-vlti

.41 e1-11 ch u 1 	 1:fri	 1"-TftiTTFEfff wlf-4R * 7:1-*1	 3

T 1i',7R I

31)49. TIT	 141,71 ,-1 '4ois1 t kicrwil .A. irk	 3

t i	  4, 10 Pviii tr 3Erzt).1-r --11-A-R 1
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(e) Pii-iiii6c( afewzrraff .wl IF .-lf-A.R :	 3

1
C6H5CHO+CH2(COOH)2 111t511 >

1, 3-0etersii-i + i ft  	 >

H2O 
(iii)	 C2H5 COOK	 >WV 311:Freff

(f)	 r-p-iroitgo TrAw .k. frig .) dqw u i q •TR :	 3

tF-fir ,Frik.t;) aTrifwzi7

TETFT41 aftlfwzri

(iii)	 rt i-1141 atifwzrr

(g)	 ii--i ri tg i alfilfWEA i rm -51-A'	 'R'T•	 3

dqu i fffrgi7 :

IFF-2ft-va-{ 319q-zri

ctril1 -4i1 3Trrqzri

(iii)	 -,s4-m atifwzrr

4.	 07771'ff ITTIff t 31( glinIR

3ITaW1 dC1(u ll4M-itzfli affirrTzfr	 kvoi	 I	 4

2, 3--si*ari.@ eekl i Rill fq1-41 1 	.1 1-111 41(11*	 4

0	 -FERT '51#E1 A fFrgfR * r4 .01:-e.3*R1

3 	 Sl*t-aRatrrti* -ct A' wilr:-R 1
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(i)	 T 'kEftalT19. 	sT-4Z111ff	 fw-d4 3Thetti	 1

	 -atrrp-m. t t?

	  kmiq Picr) *reef -ef rffr/N7	1
(iii)	 	 	 14-etzrT * rm.  3c -w	 2

"crw dcmoi	 •TR I

3hi7- shl4zti ateOTT TER' t? -551t7-9t114-1	 4

t,R-znol cmu t 4 WIT k-041 4-11	  t?

(e)	 (i)	 °4I	 -I 4	 4-111-1	 Fa	 3TRITT 'ftTgR	 1

trftiTrrEfu	 qI

3T-41-wr 440-14	 c	 c=o	 1

3Tri.murrir-q5 aTatrErur 	q11,,K

sr2ral2r{	 r	 2

3TItftiff W-A7 at	 fatrreff-z1d4

(-14-mi*v,

(f)
	

iii-iForig o 	fw#	 Tit-W:1 fetcruft

	
4

feruR :

	-elm

micitaqcsol

(iii)	 	  311-4-qw

(g)	 (i)	 itfr*tzt	 4(-ar11met) tr6V1* 31MT	 2

AciT - 	 cRii	 3td71rzitk'l

qz11:1-17 	 th-1-4r9. **-114 	 fafq q11',3K I	 2

14R	 fFftR
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